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The table mentioned below shows number of Christmas toys sold by company A,

B, C and D.

A 3fedi@d difeldl &ual A, B, C3R DERT a9 910 fohaad [&dlar fr gxar feardr B

Total number of toys sold considering all 4 companies is 6000.

Company

% of toys sold

% of toys returned as
faulty (From total sold by

that particular company)

A 30 10%
B 20 50%
C 25 25%
1)) 25 40%




Which company observes least amount of faulty returns?

Pl T FUAT HA T A GuUQUT Red @ §2

% of toys | % of toys returned as faulty (From total
Company )
sold sold by that particular company) a. Company A
N 30 10% X AL b. Company B
B 20 50% ¢. Company C
C 25 259, d. Company D
D 25 40% e. NOT




What is the average number of toys sold by company A, B and C?
aﬁq?ﬁABﬁTcma%rm@aﬁraﬁrsﬂwmw%?

% of toys | % of toys returned as faulty (From total 7
Company ] — X
sold sold by that particular company) /4 X \/ a. 2500
Al ]
rhou) 10
A 30 10% /ff‘\ ?/ . b. 3750
B 20 50% c. 2250
C 25 25% d. 1500
D 25 40% e. NOT




Find the ratio of toys sold by company A to company D ?
Ul AGRT Ul DH I T TFldl &1 HJurd =d Hifed?

% of toys | % of toys returned as faulty (From total
Company )
sold sold by that particular company) a. 5:3
A 30 10% , | b.5:6
B 20 50% . 3:5
C 25 25% d. 3:7
D 25 40% €. 6:3




Calculate difference between number of toys returned as faulty to company B and

Company C ?

hUAT B AR HUAT Chl UGN & ¥4 H dieiv v [&ellal Hr gear & dig Aax & o
AT ?

% of toys | % of toys returned as faulty (From total 7
Company ] — X
sold sold by that particular company) /4 > \/ a. 250
—AV :
U g N
A 30 10% /j\é\ ?/ 7 b. 375
B 20 50% c. 225
C 25 25% d. 300
D 25 40% e. NOT




Calculate total number of toys returned as faulty for company C ?

Ul Ch ToT VYUl & &4 A FIeT 1T T&ldl &l ol HEIT HI I H? @\

% of toys | % of toys returned as faulty (From total
Company )
sold sold by that particular company) a. 500
A 30 10% | | b. 375
B 20 50% c. 425
C 25 25% d. 505
D 25 40% e. NOT




Direction: Read the following table carefully and answer the following questions:
The following table shows the percentage of literate and Illiterate Population of 3

categories and the ratio of Male and Female.

fader: fAFafaf@a arferar @ carayde ufer 3k [Aeafaf@a ot & s afFd: [ea

drferer 3 A0 & @1eR 3R RGN Fa8Edr &1 gfderd 3R ey 3R #AfRer & 3rquia &

g &l
Literate Illiterate
Category Male : Female
percentage percentage

Rich 30 25 3:2

Middle class 60 15 1:3

Poor 10 60 1:1
Total 160000 180000




Find the average number of Poor people in the city between the two categories ?

al AT & I e & I A9 hr 3iad &I Ara hiiad?

Literate Illiterate

Category Male : Female P s N
percentage percentage 7/ _“_D\/‘ a. 52000

ROy ]
Rich 30 25 3:2 8 b. 58000
Middle class 60 15 1:3 c. 64000
Poor 10 ] 1:1 d. 62000
Total 160000 180000 e. 68000




Find the difference between the rich men and middle-class men ?

HAR goul 3R ACIH g9 & GIUl & dIT ] AT Do ?

Literate Illiterate
Category Male : Female
percentage percentage
Rich 30 25 3:2
Middle class 60 15 1:3
Poor 10 60 1:1
Total 160000 180000

(@]

a. 20550
b. 25050
c. 25550
d. 20500
e. 25000



Find the ratio between the number of rich women and poor women ?

HAR Afgen3i 3R I ATG3NT T &A1 & g B 37U <1 HITSTA?

Category Literate Illiterate Male : Female
percentage percentage a. 91 : 153
Rich 30 25 3:2 b. 89 : 145
Middle class 60 15 1:3 c. 74 :131
Poor 10 60 1:1 d. 93 : 155
Total 160000 180000 e. 76 : 149




The literate poor people is approximately how much percent less than the illiterate

poor people?

16N IR 9T JRATETT IR S9N bl JoAT H THIT fhdd Uiderd hA &2

Category Literate Illiterate Male : Female
percentage percentage N} a. 75%
Rich 30 25 3:2 ) b. 88%
Middle class () 15 1:3 c. 82%
Poor 10 60 1:1 d. 68%
Total 160000 180000 e. 83%




The illiterate rich people is approximately what percent of the literate Middle-

class people?

FATT 3R 9T T8 ACTA T & S9N BT AT Tohaar ufaera &2

Literate Illiterate
Category Male : Female
percentage percentage
Rich 30 25 3:2
Middle class 60 15 1:3
Poor 10 60 1:1
Total 160000 180000

(@]

a. 52%
b. 42%
c. 35%
d. 47%
e. 38%



Direction: Read the following table carefully and answer the following question : \(
The following table represent the data of different category related to different exams.

ﬁé?Tmﬁmzﬁ%W@ﬁﬁTmﬁqﬁasma
e arfore i adiemsn @ gafda [Affea 9ot & 3eT o1 uflaaidca Hdr &

Selected in Mains .
Category | Applied for . Selected in
) exam /Applied for
/Exams Mains exam Advance exam
Advance exam

Male 55% 45% 60%

Female 45% 55% 40%

Total 375000 180000 100000




Find approximately, the number of boys selected in the Mains exam is how much \( *

percent less than the number of boys failed in Mains exam ?

SINHI AT HIISA, F&T T A TAAT TSehl Dl T, T H 3MeIciIol oIgehl el
&7 ¥ fohda gfaerd & ©7 oy

Cat Aoblied £ Selected in Mains | Selected in
ategor ied for
SOTY pP exam /Applied for| Advance a. 35%
/Exams |Mains exam
Advance exam exam b. 28%
Male 55% 45% 60% c. 37%
0
Female 45% 55% 40% d. 31%
0
Total | 375000 180000 100000 e. 30%




Find the average number of girls students selected in Mains and Advance exams ? \(

AET IR HAPH qlia d TAfdd asfndr &1 3iad FE&ar g S ?

Cat Aoblied £ Selected in Mains | Selected in
ategor ied for
SOy APP exam /Applied for| Advance a. 63600
/Exams |Mains exam
Advance exam exam { / b. 64400
Male 55% 45% 60% c. 71300
Female 45% 55% 40% d. 67000
Total | 375000 180000 100000 e. 69500




Find the difference between the number of boys and girls students who got \( *

selected in the Advance exam ?

FFIH e # gIAaT g diel dsai 3R sfhdal & SEl d GEAT & O BT 37dT A1d
A

Cat Aoblied £ Selected in Mains | Selected in
ategor ied for
BTy pP exam /Applied for| Advance a. 15000
/Exams |Mains exam
Advance exam exam b. 18000
Male 55% 45% 60% c. 20000
Female 45% 55% 40% d. 25000
Total 375000 180000 100000 e. 30000




Find the ratio between the number of girls students selected in Mains to number \(

of girls students who rejected in Mains exam ?

AL qeT # I STE3 T J&IT 3N LT e H IEdpd ST T J&dr & @i
T HJUTd =T DA ?

] Selected in Mains | Selected in
Category | Applied for

exam /Applied for| Advance a. 44 : 31

/Exams |Mains exam
Advance exam exam b. 31 : 44
Male 55% 45% 60% c. 22:11
Female 45% 55% 40% d. 37 :31

Total 375000 180000 100000 e. 44 :37




Find approximately, the total number of rejected students in the Advance exam is

how much percent of the total number of students who applied for the Advance

. €111 ¥4

STITHIT AT hIfS, MIH GlaT H IEdpd Dl H Sl AT IFIH e & faw 3mded
i dTel BTAI HI Dol HEAT BT fhddT AT &2

Selected in Mains | Selected in

Category | Applied for PPN\
SOTY p? exam /Applied for| Advance | 14 A \ a. 42%
/Exams |Mains exam - 1)
Ny b. 40%

A
Advance exam exam =
S

0
Male 55% 45% 60% c. 44%

0
Female 45% 55% 40% d. 48%
e. 47%

Total 375000 180000 100000




A company has planned a trip. The company
has 4200 employees. 72% of the employees
registered for the trip. The ratio of male and
female employees registered for the trip is 7:
5. Out of them, 75% of the employees have
chosen the company transport services for
the trip and rest decided to use their own
vehicle. On the trip day, 25% of those who
have chosen for company transport, went on
the trip by their own vehicles for some
reasons. The ratio of male and female
employees who came by their own transport
is 5: 4. Initially, the company had booked 57

buses with 40 seat capacity in each.

TH HUAT 7 gAT T T ST 2
FOAt T 4200 wHHAH T 2%
FAATET I a=T & fIU UsireRtor
FHET ATAT & 10 USAieha T60 3R
AT SHHTTRET ST ST 7:5 §l 3TH
H 75% HAATHAT T IT=AT o 10 Hot
61 URTET Tt T AT & IR ATt 7
AU ATET hT IUANT & T HHAT
feraT 1 e & fem, ™ & J ShueT
UiEE b foTT AT 2 390 | 25% fehedi
HRUMT A FU T & JEAT & a0 W
T Al U T & TREET | ATC U5
3R WIREAT HHATNAT T ATUT 5:4 T
TN H, U 7 Tk § 40 Hie erHar
ATAT 57 8 ek <ht off|




A company has planned a trip. The company
has 4200 employees. 72% of the employees
registered for the trip. The ratio of male and
female employees registered for the trip is 7:
5. Out of them, 75% of the employees have
chosen the company transport services for
the trip and rest decided to use their own
vehicle. On the trip day, 25% of those who
have chosen for company transport, went on
the trip by their own vehicles for some
reasons. The ratio of male and female
employees who came by their own transport
is 5: 4. Initially, the company had booked 57

buses with 40 seat capacity in each.




What is the number of female employees who registered for the trip?

IrET & forw usihipd AfRelm dATRAT &1 T&IT T 82

& —|.-|: \/ a. 1080
/—-/\i;.\\ = I‘-y/ \\ b 4 1 2 60

c. 1320
d. 1180
e. NOT



Find the difference between the total number of male and female employees who

came to the trip by their own transport?

U T & URaed ¥ IMET W A died G2V 3R ATGell el H ol HEIT & I P
HR AT HIferA?

& ’_“_l: \/ a. 155
/_,;T_f\ - I‘_y/,ﬁ\'\ b. 135

c. 147
d. 138
e. NOT



How many buses are actually used for the trip?

AT o oI aread & ThdeT d&T o1 39AET hAT JTdar &2

a. 43
b. 40
c. 45
d. 38
e. 36




The number of employees who went to the trip by their own transport in spite of

registering for the company transport is what percent of the number of employees

who did not register for the trip?

hUAT GRAEA & ToIT USHAIuT i & dIds[g HUa T9I & URded 8§ IET U S drel
Wﬁﬁw,w%ﬁtﬁwaﬁmmmﬁmﬁﬁzﬁmwmuﬁam
?

(\_“_'\ . a. 35.23%
€20

/ —!‘)\\ b. 50.67%
o c. 56.43%
d. 48.21%

e. NOT



Find the ratio of the number of female employees who registered for the trip and

Irr & T gslipd AfRem dATRAT & F€ar 3R 3ua TaF & uRagd & I o 31 drelt
AT HAATRIT B FEIT BT HJUTd AT DI ?

number of female employees who came to the trip by their own transport?

0\ 8,915
/'-/T*:\ _ !—)} y, \\ b.11:6

B ¢ 527
d.13:9
e. NOT



Directions: Pie chart shows the number of workers in different companies. .
Table chart shows the ratio between employees and workers.

Total Employees = Total Officers + Total Workers

Total Workers = 6000




Find the ratio between officers of company A and employees of company D ? @\
HUAT A o ATRTRAT SR THUAT D o HHETRAT o sitel hT FTATT AT Rl T ?

Total Workers = 6000

1.2:11
2.3:28
3.5:32
4.2:17
5.NOT




Officers of company A are what percent of the officers of company E ?

HUAT A o TR hUAT E o6 STIRTIET & feha atasra 82

Total Workers = 6000 1.25%
| 2.66.66%

3.37.5%
4.50%
5.NOT




Officers of company B are how much percent more or less than employee of

company E ?

HUAT B & ATUHHET U E &% wi=rt O feraw ufasra arferes o v &2

Total Workers = 6000

1.80%
2.83.33%
3.14.28%
4.28%
5.NOT




Find the average between officers of A, B and E ?

A, B 3T E o SATeRTIET o i<t oht 37 @d FTd hifer?

Total Workers = 6000

1.500
2.700
3.900
4.1200
5.NOT



Find the ratio between officers and workers ?

STAHTIAT ST HTAITRT o ster ST SFTUTA AT Rl T ?

Total Workers = 6000 1.17:50
| N 2.22:45

3.19:32
4.65:132
5.NOT




Find the difference between employees and officers ?

HHATET ST STFRTIEAT ok el ST TR FTA HITT 2

Total Workers = 6000

1.8040
2.6000
3.4000
4.4200
5.NOT



